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JIE 7. K 4 oUT IN G |HC NET 7= 7 NEVAR= dA,

1 FHEEER 43 45 88 16.0 72.0
2 V4 H 7 38 38 76 2.8 73.2
3 H 42 46 88| 14.8 73.2
4 MAHEFT 41 40 81, 7.6 73.4
5 EIlESFIfR 46 49 95 20.8 74.2
6 FLHIE 45 42 87 12.4 74.6
7 )T 47 48 95| 19.6 75.4
8 JH k% 45 49 94| 18.4 175.6
9 W1 48 50 98 22.0 76.0
10 mHBGT 48 416 94 17.2 76.8
11 FEACENR 45 48 93 16.0 77.0
12 & HEET 47 44 91 13.6 77.4
13 FHFHT 48 48 | 96 18.4 T77.6
14 mHERF 53 49 102 24.4 77.6
15 fhex RE-ET 40 43 83 5.2 77.8
16 |[UARERS 51 49 100 22.0 78.0
17 HHET 49 51 100 22.0 78.0
18 FHT AT 41 44 85 6.4 178.6
19 RREEH 44 47 91 12.4 78.6
20 AFHHlF 45 46 91 12.4 78.6
21 BEMEAR 46 50 96 17.2 78.8
22 FHAKIE 7 51 55 106 26.8 79.2
23 H5)IESE 49 58 107 26.8 80.2
24 IRAES & A 45 49 94| 13.6 80.4
25 M x KB 51 51 102 20.8 81.2
26 HEFEET 52 61 113 31.6 81.4




